Chapter 3 Competitive Forces Affecting Strategic Position
	LEARNINGS OBJECTIVES

1.
Discuss the significance of industry, sector and convergence
2.
Evaluate the sources of competition in an industry or sector using Porter’s five forces framework.
3.
Assess the contribution of the lifecycle model, the cycle of competition and associated costing implications to understanding competitive behavior.

4.
Analyse the influence of strategic groups and market segmentation.

5.
Determine the opportunities and threats posed by the environment of an organization.
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1.
Competition and Markets
1.1
Customers and markets
1.1.1
A market is a place where buying and selling takes place. A market can be defined in different ways.
(a)
It can be defined by the products or services that are sold, such as the fashion clothes market, the banking market or the market for air travel.

(b)
It can be defined by the customers or potential customers for products or services, such as the consumer market or the ‘youth market’.
(c)
Customer markets might also be defined by geographical area, such as the North American or European market.
1.1.2
An important aspect of business strategy for companies is concerned with selling goods or services successfully to targeted markets. (These strategies are ‘product-market strategies’.)
1.2
Industries and sectors

1.2.1
An industry consists of suppliers who produce similar goods and services. For example, there is an aerospace industry, an automobile manufacturing industry, a construction industry, a travel industry, a leisure industry, an insurance industry, and so on.

1.2.2
Within an industry, there may be different segments. An industry segment is a separately-identifiable part of a larger industry. For example, the automobile industry can be divided into segments for the construction of automobiles and the manufacture of parts. Similarly, the insurance industry has several sectors, including general insurance, life insurance and pensions.
1.2.3
Companies need to make strategic decisions about:
(a)
the industry and industrial segment (or segments) they intend to operate in, and
(b)
the market or markets in which they will sell their goods or services.

1.2.4
A distinction should be made between products and markets.
(a)
Companies in different industries might sell their goods or services to the same market. For example, small building companies compete with retailers of do-it-yourself tools and other products. Laundry services compete with manufacturers of domestic washing machines.

(b)
Companies in the same industry might not compete because they operate in different markets. For example, a ferry company operating passenger services between the UK and France is in the same industry as a ferry company operating passenger services between the Greek islands, but they are in the same industry.

1.3
Generic types of industry
1.3.1
Porter suggested that there are five generic types of industry. The strategic position of a company depends to some extent on the type of industry it is operating in. The five industry types are as follows:
(a)
Fragmented industries. In a fragmented industry, firms are small and sell to a small portion of the total market. Examples are dry cleaning services, hairdressing services, shoe repairs.

(b)
Emerging industries. These are industries that have only just started to develop, and are likely to become much bigger and much more significant in the future. An example is the space travel industry.

(c)
Mature industries. These are industries where products have reached the mature phase of their life cycle. (The product life cycle is described later.) Examples are automobile manufacture and soft drinks manufacture.

(d)
Declining industries. These are industries that are going into decline: total sales are falling and the number of competitors in the market is also falling. An example is in coal mining in Europe.

(e)
Global industries. Some industries operate on a global scale, such as the microprocessor industry and the professional football industry.

1.4
Convergence

1.4.1
Occasionally, two or more industries or industrial segments converge, and become part of the same industry, with the same customer markets. When convergence is happening, or might happen in the future, this can have a major impact on business strategy.
	1.4.2
	Example 1

	
	In the past, there were three separate communications industries providing services to consumer households.
· Television broadcasters (such as the BBC and ITV) delivered terrestrial television services to households.

· Telephone service companies delivered voice communications to households through the telephone network.

· More recently, data communications have been provided to households through internet service providers.

A separate mobile telephone industry also developed
These industries or industrial segments are now converging into a single industry, serving the same customers. Voice, data and entertainment services can be delivered over the same network. They can also be delivered to mobile telephones as well as to households.
As a consequence, these industries have undergone, and continue to undergo, major strategic changes.
· Technology is continuing to develop. It should soon be possible to download high-quality TV pictures over the internet. Customers will be able to receive voice, data and entertainment services through the same hardware, anywhere and at any time.

· New products and new services will emerge and markets for these products will grow – examples are on-demand TV programmes, video conferencing, and narrowcasting (delivering programmes to a targeted audience). Direct advertising services will also be affected.

· Inevitably, some companies will be ‘winners’ and some will be ‘losers’. The companies that survive in the converging industries will be those that are most successful with their strategic management.


1.5
Demand-led and supply-led convergence
1.5.1
With demand-led convergence, the pressure for industry convergence comes from customers. Customers begin to think of two or more products as interchangeable (e.g. mobile and fixed line telephones) or closely complementary (e.g. air travel and car hire).
1.5.2
With supply-led convergence suppliers see a link between different industries and decide to bridge the gap between the industries. The convergence of the entertainment, voice communication and data communication industries, discussed in the previous example, is probably supply-led, because suppliers became aware of the technological possibilities before consumers became aware of the convenience.
2.
Industry Competition: Five Forces Model

2.1
Competition analysis
2.1.1
Analysing competition is an important part of strategic position analysis.

(a)
It is also important to assess the strength of competition in a market, and try to understand what makes the competition weak or strong.

(b)
A company should also monitor each of its major competitors, because in order to obtain a competitive advantage, it is essential to know about what competitors are doing.
2.1.2
Porter’s Five Forces model provides a framework for analyzing the strength of competition in a market. It is not a model for analyzing individual competitors, or even what differentiates the performance of different firms in the same market. In other words, it is not used to assess why some firms perform better than others.

2.1.3
In addition, the Five Forces model can be used to explain why some industries are more profitable than others, so that companies operating in one industry are able to make bigger profits than companies operating in another industry. Profitability is affected by the strength of competition: the stronger the competition, the lower the profits.
2.2
The Five Forces

2.2.1
Michael Porter (‘Competitive Strategy’) identified five factors or ‘forces’ that determine the strength and nature of competition in an industry or market. These are:
(a)
The threat of new entrants to the industry

(b)
The threat of substitute products or services

(c)
The bargaining power of customers

(d)
The bargaining power of suppliers

(e)
The rivalry amongst current competitors in the industry

[image: image2.emf]
(a)
Threat from potential entrants

2.2.2
The significance of this threat depends on how easy or how difficult it would be for new competitors to enter the market. In some markets, the cost of entering a new market can be high, with new entrants having to invest in assets and establish production facilities and distribution facilities. In other markets, the cost of entering the market can be fairly low.

2.2.3
The costs and practical difficulties of entering a market are called ‘barriers to entry’.
(a)
When barriers to entry are low. If new entrants are able to come into the market without much difficulty, firms already in the market are likely to keep prices low and to meet customer needs as effectively as possible. As a result, competition in the market will be strong and there will be no opportunities for high profit margins.

(b)
When barriers to entry are high. When it is difficult for new competitors to enter a market, existing competitors are under less pressure to cut their costs and sell their products at low prices.
2.2.4
A number of factors might help to create high barriers to entry:

	Factors
	Comment

	Economies of scale
	Economies of scale are reductions in average costs that are achieved by producing and selling an item in larger quantities. In an industry where economies of scale are large, and the biggest firms can achieve substantially lower costs than smaller producers, it is much more difficult for a new firm to enter the market. This is because it will not be big enough at first to achieve the economies of scale, and its average costs will therefore be higher than those of the existing large-scale producers.

	Capital investment requirements
	If a new entrant to the market will have to make a large investment in assets, this will act as a barrier to entry, and deter firms from entering the market when they do not want the investment risk.

	Access to distribution channels
	In some markets, there are only a limited number of distribution outlets or distribution channels. If a new entrant will have difficulty in gaining access to any of these distribution channels, the barriers to entry will be high.

	Time to become established
	In industries where customers attach great importance to branding, such as the fashion industry, it can take a long time for a new entrant to become well established in the market. When it takes time to become established, the costs of entry are high.

	Know-how
	This can be time-consuming and expensive for a new entrant to acquire.

	Switching costs
	Switching costs are the costs that a buyer has to incur in switching from one supplier to a new supplier. In some industries, switching costs might be high. For example, the costs for a company of switching from one audit firm to another might be quite high, and deter a company from wanting to change its auditors. When switching costs are high, it can be difficult for new entrants to break into a market.

	Government regulation
	Regulations within an industry, or the granting of rights, can make it difficult for new entrants to break into a market. For example, it might be necessary to obtain a licence to operate, or to become registered in order to operate within an industry.


(b)
Threat from substitute products
2.2.5
There is a threat from substitute products when customers can switch fairly easily to buying alternative products (substitute products).
2.2.6
The threat from substitutes varies between markets and industries.
	2.2.7
	Example 2

	
	(a)
Domestic heating systems. Consumers might switch between gas-fired, oil-fired and electricity-fired heating systems.

(b)
Transport. Customers might switch between air, rail and road transport services.

(c)
Food and drink products. Consumers might switch between similar products, such as coffee and tea.


2.2.8
When there are substitute products that customers might buy, firms must make their products more attractive than the substitutes. Competition within a market or industry will therefore be higher when the threat from substitute products is high.
2.2.9
Threats from substitute products may vary over time. There are many examples in the past of industries that have been significantly affected by the emergence of new substitute products.
	2.2.10
	Example 3

	
	(a)
Plastic containers and bottles became a significant substitute for glass containers and bottles.

(b)
Synthetic fibres became a substitute for natural fibres such as wool and cotton.

(c)
Word processors and personal computers became a substitute for typewriters, and the market for typewriters was destroyed.


(c)
Bargaining power of suppliers
2.2.11
In some industries, suppliers have considerable power. When this occurs, they might charge high prices that firms buying from them are unable to pass on to their own customers. As a result, profitability in the industry is low, and the market is competitive.
2.2.12
Porter wrote: ‘Suppliers can exert bargaining power over participants in an industry by threatening to raise prices or reduce the quality of purchased goods or services. Powerful suppliers can thereby squeeze profitability out of an industry unable to recover cost increases in its own prices.’
	2.2.13
	Example 4

	
	An example of supplier power is possibly evident in the industry for personal computers. Software companies supplying the computer manufacturers (such as Microsoft) have considerable power over the market and seem able to obtain good prices for their products. Computer manufacturers are unable to pass on all the high costs to their own customers for PCs, and as a consequence, profit margins in the market for PC manufacture are fairly low.


2.2.14
Porter suggested that the bargaining power of suppliers might be strong in any of the following situations:
(a)
when there are only a small number of suppliers to the market

(b)
when there are no substitutes for the products that are supplied

(c)
when the products of a supplier are differentiated, and so distinctly ‘better’ or more suitable than the products of rival suppliers

(d)
when the supplier’s product is an important component in the end-products that are made with it

(e)
when the industry supplied is not an important customer for the suppliers

(f)
when the suppliers could easily integrate forward, and enter the market as competitors of their existing customers.
2.2.15
The bargaining power of suppliers also depends on the importance of the product they supply. For example, for a firm that manufactures cars the bargaining power of engine suppliers will be greater than the bargaining power of suppliers of car mirrors.
(d)
Bargaining power of customers

2.2.16
Buyers can reduce the profitability of an industry when they have considerable buying power. Powerful buyers are able to demand lower prices, or improved product specifications, as a condition of buying. Strong buyers also make rival firms compete to supply them with their products.
	2.2.17
	Example 5

	
	In the UK, a notable example of buyer power is the power of supermarkets as buyers in the market for many consumer goods. They are able to force down the prices from suppliers of products for re-sale, using the threat of refusing to buy and switching to other suppliers. As a result, profit margins in the manufacturing industries for many consumer goods are very low.


2.2.18
Porter suggested that buyers might be particularly powerful in the following situations:
(a)
when the volume of their purchases is high relative to the size of the supplier

(b)
when the products of rival suppliers are largely the same (‘undifferentiated’)

(c)
when the costs of switching from one supplier to another are low

(d)
when the cost of purchased item is a significant proportion of the buyer’s total costs

(e)
when the profits of the buyer are low

(f)
when the buyer’s product is not affected significantly by the quality of the goods that it buys

(g)
when the buyer has full information about suppliers and prices.
(e)
Competitive rivalry

2.2.19
Competition within an industry is obviously also determined by the rivalry between the competitors. Strong competition forces rival firms to offer their products to customers at a low price (relative to the product quality) and this keeps profitability fairly low.
2.2.20
Porter suggested that competitor rivalry might be strong in any of the following circumstances:
(a)
when the rival firms are of roughly the same size and economic strength

(b)
when there are many competitors

(c)
when there is only slow growth in sales demand in the market

(d)
when the products of rival firms are largely the same (‘undifferentiated’)

(e)
when fixed costs in the industry are high, so that firms still make some contribution to profit even when they cut prices

(f)
when supply capacity can only be increased in large incremental amounts (for example, in electricity supply industry, where increasing total supply to the market might only be possible by opening another power generation unit)

(g)
when the costs of withdrawing from the industry are high, so that even unprofitable companies are reluctant to leave the market.
2.3
The Five Forces model summarized
2.3.1
The Five Forces model is summarised below, showing some of the key factors that help to determine the strength of each of the forces in the industry or market.
[image: image3.emf]
2.3.2
The five forces is one of the three or four most important models in the field of strategy and is explicitly referenced in the Study Guide P3 so could be specifically required to answer an exam question. Therefore you must study it carefully and be able to apply it. In particular, you need to be able to decide which of the five categories properly describes a given strategic problem which may be discussed in a scenario. Pay particular attention to the nature of the substitutes.

	2.3.3
	Example 6

	
	The Five Forces model can be used to analyse the competition for Amazon, the company that supplies books, CDs and DVDs through online ordering on its website. It has no direct competitor.
· Threat from potential entrants. This is likely to be fairly low, because of the costs of establishing a selling and distribution system and the time it might take a new competitor to create ‘brand awareness’.

· Suppliers’ bargaining power. Amazon obtains its books and other products from a large number of different suppliers. The bargaining power of most suppliers is therefore likely to be weak, with suppliers needing Amazon more than Amazon needs individual suppliers.

· Customers’ bargaining power. Amazon has a very large customer base, and the bargaining power of customers is non-existent.
· Threat from substitutes. Substitutes are bookshops, shops selling CDs and DVDs, internet downloads of films and music, and possibly eBay and other online auction sites as a channel for selling second-hand books. In the longer term electronic books might be another substitute.

· Competitive rivalry. Amazon has no direct competitor.
In conclusion, the major competition in the market served by Amazon is probably the threat from substitute products.


	Question 1

E, a well known cosmetics manufacturer, obtains worldwide sales for its global branded products. The directors pride themselves on having a clear understanding of E’s consumer market which consists of both men and women. Its products mainly comprise deodorants, perfume, after-shave lotions, facial and body washes.

In carrying out an analysis of its competitive environment, the Marketing Director has applied Porter’s Five Forces model and analysed the factors which affect E under each heading as follows.

· Threat of new entrants: Little threat as although major competitors exist, the size of E presents a large entry barrier.
· Power of buyers: Very important as the customer world wide have much choice from different competitors’ products.

· Power of suppliers: Little threat as most suppliers of materials are small scale and E could easily source from other suppliers if necessary. Labour is relatively cheap in E’s production facilities in developing world locations.

· Substitute products: There are many alternative products offered by competitors but there is little by way of a substitute for cosmetics, and therefore this poses little threat.

· Rivalry among competitors: There is strong competition in the cosmetics market with new products constantly being developed, and therefore this is a major threat.

The Marketing Director is reasonably confident that he has judged the impact of these competitive forces correctly as they apply to E. However, he would like some re-assurance of this. He has asked you, as Management Accountant, to provide some appropriate indicators by which the strength of the five competitive forces as they apply to E can be judged.

Required:

Prepare a report to the Marketing Director recommending suitable indicators which could be used to judge the strength of the five competitive forces as they apply to E. Discuss why you consider your recommendations to be appropriate. Include in your discussion consideration of whether or not you agree with his judgement regarding the impact of each force on E.


(25 marks)


3.
The Product Life Cycle
3.1
The classical product life cycle

3.1.1
The product life cycle analysis is a technique used to plot the progress of a product through its life span. The model can be used to assess an individual firm's products (e.g. the iPod Classic), a type of product (e.g. CRT televisions) or an industry (e.g. movies).
3.1.2
The model can show between four and six stages. Here, we show four stages:

(a)
introduction

(b)
growth

(c)
maturity

(d)
decline.
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3.1.3
This cycle reflects changes in demand and the spread of technical knowledge among producers. Innovation creates the new industry, and this is normally product innovation. Later, innovation shifts to processes in order to maintain margins. The overall progress of the industry life cycle is illustrated below.

	
	Introduction
	Growth
	Maturity
	Decline

	Product characteristics
	Basic, no standards established
	Improved design and quality differentiated
	Standardised product with little differentiation
	Varied quality but fairly undifferentiated

	Competitors
	None to few
	Many entrants
	Competition increases, weaker players leave
	Few remain.

Competition may be on price.

	Buyers
	Early adopters, prosperous, curious must be induced
	More customers attracted and aware
	Mass market, brand switching common
	Enthusiasts, traditionalists, sophisticates

	Profits
	Negative – high first mover advantage
	Good, possibly starting to decline
	Eroding pressure of competition
	Variable

	Technology
	No standards established
	Technologies become more standardized
	Technology is understood across the industry
	Technology is understood across the industry

	Production process
	Small scale batch production.

Specialised distributors
	Mass production.

Distribution networks expanded
	Long production runs.

Cost efficiency critical
	Overcapacity.

Production is reduced.


3.1.4
The life cycle model has strategic implications for organizations operating in that industry. Management must pursue different strategies at each stage.
(a)
Introduction stage
· Attract trend-setting buyer groups by promotion of technical novelty or fashion.

· Price high (skim) to cash in on novelty, or price low (penetration) to gain adoption and high initial share.

· Support product despite poor current financial results.

· Review investment program periodically in light of success of launch (e.g. delay or bring forward capacity increases).

· Build channels of distribution

· Monitor success of rival technologies and competitor products

(b)
Growth stage
· Ensure capacity expands sufficiently to meet firm’s target market share objectives.

· Penetrate market, possibly by reducing price.

· Maintain barriers to entry (e.g. fight patent infringements, keep price competitive).

· High promotion of benefits to attract early majority of potential buyers.

· Build brand awareness to resist impact form new entrants.

· Ensure investors are aware of potential of new products to ensure support for financial strategy.

· Search for additional markets and product refinements (i.e. market penetration).

· Consider methods of expanding and reducing costs of production (e.g. contract manufacturing overseas, building own factory in a low cost location).

· Product development

(c)
Maturity stage
· Maximise current financial returns from product.
· Defend market position by matching to gain acceptance from non-buyers (e.g. new outlets or suggested new uses).

· Modify the product to make it cheaper or of greater benefit.

· Intensify distribution.

· Seek to extend growth by finding new markets or technologies

(d)
Decline stage
· Harvest cash flows by minimizing spending on promotion or product refinement.

· Simplify range by weeding out variations.

· Narrow distribution to target loyal customers and reduce stocking costs.

· Evaluate exit barriers and identify the optimum time to leave the industry.

· Seek potential exit strategy (e.g. sell the business).

· The response of competitors is particularly important – there may be threats as they attempt to defend their position, or opportunities, e.g. when a competitor leaves the market.
3.2
Cycle of competition
3.2.1
A cycle of competition is another concept for understanding the behaviour of competitors in a market.

3.2.2
When one company achieves some success in a market, competitors might try to do something even better in order to gain a competitive advantage. A new initiative by one company will result in a counter-measure from another company. Each company in the market tries to do something different and better.

3.2.3
A typical cycle of competition affects prices and quality. If one company has a large share of a profitable market, a rival company might start to sell its product at a lower price. Another rival company might improve the quality of its product, but sell it at the same price as rivals in the market. The first company might respond to these initiatives by its rivals by improving its product quality and reducing the selling price.
3.2.4
The effect of a cycle of competition in a growing market is that prices fall and quality might improve.
3.2.5
In the maturity phase of a product’s life cycle, or in the decline phase, it becomes more difficult to lower prices without reducing quality. Competitors might try to gain a bigger share of the market by selling at a lower price, but the product quality might be reduced. This can lead to a ‘spiral’ of falling prices and falling quality, to the point where the product is no longer profitable, and it is less attractive to customers.
3.2.6
The concept of the cycle of competition is useful for strategic analysis, because it can help to explain the strategies of companies in a market, and to assess what future initiatives by competitors might be.
	Question 2

3C is a medium-sized pharmaceutical company. It is based in Asia, but distributions and sells its products world-wide.

In common with other pharmaceutical companies, 3C has a large number of products in its portfolio, though most of these are still being developed. The success rate of new drugs is very low, as most fail to complete clinical trials or are believed to be uneconomic to launch. However, the rewards to be gained from a successful new drug are so great that it is only necessary to have a few successful drugs on the market to be very profitable.

At present 3C has 240 drugs at various stages of development; being tested or undergoing clinical trials prior to a decision being made whether to launch the drug. 3C has only three products that are actually ‘on the market’:

· Epsilon is a drug used in the treatment of heart disease. It has been available for eight months and has achieved significant success. Sales of this drug are not expected to increase from their current level.

· Alpha is a painkiller. It was launched more than ten years ago, and has become one of the leading drugs in its class. In a few months the patent on this drug will expire, and other manufacturers will be allowed to produce generic copies of it. Alpha is expected to survive a further twelve months after it loses its patent, and will then be withdrawn.

· Beta is used in the hospital treatment of serious infections. It is very specialized drug, and cannot be obtained from a doctor or pharmacist for use outside the hospital environment. It was launched only three months ago, and has yet to generate a significant sales volume.

The directors of 3C meet every month to review the product portfolio and to discuss possible investment opportunities. At their next meeting, they are to be asked to consider three investments. Due to a limited investment budget, the three investments are mutually exclusive (that is, they will only be able to invest in ONE of the options). The options are as follows:
· The directors can invest in a new version of Alpha, Alpha2, which offers improved performance. This will allow 3C to apply for a new patent for Alpha2, and maintain the level of sales achieved by Alpha for an additional five years. Alpha2 has successfully completed all its clinical trials, and can be launched immediately.
· The directors can invest in a major marketing campaign, to promote the use of Beta to specialist hospital staff. While this investment should lead to a significant growth in the sales of Beta, 3C is aware that one of its competitors is actively promoting a rival product with similar performance to that of Beta.

· The directors can invest in the final stage of clinical trials for Gamma. This is a ‘breakthrough’ drug, as it has no near rivals on the market. Gamma is used in the treatment of HIV, and offers significantly better success rates than any treatment currently available. The team of 3C specialists managing the development of Gamma is confident it can successfully complete clinical trials within six months. The team also believes that Gamma should be sold at the lowest price possible, to maximize the benefits of Gamma to society. However, the marketing department of 3C believes that it would be possible to earn very large profits from Gamma, due to its success rate and breakthrough status.
Required:

(a)
Briefly explain how the product life cycle model can be used to analyse the current product portfolio of 3C (that is, BEFORE the planned investment).
(8 marks)

(b)
Evaluate the potential impact of each of the three investment options (Alpha2, Beta and Gamma) on the product portfolio of 3C, referring to your answer to part (a) above.
(9 marks)

(c)
Discuss the social responsibility implications of each of the three investment options, for the directors of 3C.
(8 marks)


4.
Strategic Group Analysis
4.1
Strategic groups

4.1.1
Another approach to analysing and understanding the competitors in a market is to group them into strategic groups.
4.1.2
A strategic group is a number of entities that operate in the same industry and that have similar strategies or that are competing in their markets in a similar way. Strategic groups have been defined as: ‘Clusters of firms within an industry that have common specific assets and thus follow common strategies in key decision variables’ (Oster).
4.1.3
When there are only a few competitors in the same industry, the concept of strategic groups has no practical value, because each competitor can be analysed individually. However, when there are many competitors in the industry, it can simplify the analysis to put them into strategic groups of entities with similar resources and similar strategies. For the purpose of competitor analysis, all the entities in the same strategic group can then be treated as if they are a single competitor. Instead of analysing each competitor individually, they can be analysed collectively, in groups.
	4.1.4
	Example 7

	
	There are many companies in the industry for brewing and selling beers. To facilitate competitor analysis, they can be grouped into the following strategic groups.
· Companies that operate globally and make and sell a broad range of different beer products. (Carlsberg is an example)

· Companies that operate regionally, for example in Europe only, and make and sell a broad range of different beer products.

· Companies that operate in a national market, and make and sell a broad range of different beer products. (Bass in the UK has been suggested as an example)

· Companies that operate internationally, but offer a relatively limited range of beer products. (Grolsch has been suggested as an example)

· Local specialists that make a small range of products for a local market.


4.2
Strategic space
4.2.1
When all the companies in an industry are put into strategic groups, and these groupings are analysed, a strategic space might become apparent.
4.2.2
A strategic space is a gap in the market that is not currently filled by any strategic group. The existence of strategic space might provide an opportunity for a company to make a strategic initiative, and attempt to fill the space that no other rivals occupy.
	4.2.3
	Example 8

	
	One way of identifying strategic groups within an entire market is to classify market position in terms of price and quality. Some firms will offer lower-priced products, but their quality is probably not as good. Other firms might offer higher-quality products for a higher price.
The strategic groups in a market might be mapped according to price and quality as follows:
[image: image5.emf]
This map indicates that there are four strategic groups, each in a different market position in relation to price and quality. The largest group, Group 2, sells products with a middle-range price and middle-range quality.
This method of analysis can help an entity to identify possible gaps in the market – strategic space. When there is a perceived gap in the market, an entity might decide on a strategy of filling the empty space by offering a product with the characteristics that are needed to fill the gap.
If the positioning of entities in a market is analysed by price and quality, as above, possible strategic spaces might be identified as follows:
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In this example, an entity might decide to target a position in the market where it sells a high-quality product for a low price, because there are no firms yet in this part of the market. Alternatively, there might be a market for even higher-quality products at an even higher price.


4.3
Product differentiation
4.3.1
A market can be identified as a group of customers or potential customers for a particular product or range of related products.
4.3.2
In a very small number of markets, all suppliers provide an identical product that is the same in every respect to the product supplied by its competitors. An example is foreign exchange. Banks selling US dollars in exchange for euros are all trading exactly the same product.
4.3.3
In most markets, products are differentiated in various ways. They are similar, but there are also noticeable differences. Differences in products include differences in:
(a)
product design

(b)
pricing

(c)
branding

4.3.4
Products might also be differentiated by the way in which they are delivered to customers. For example, banking services might be delivered through a branch network or as an internet service. Similarly, consumers can buy products in shops or through the internet; or they can buy a hot meal by going to a cafeteria or restaurant, or by ordering a home-delivery meal.
4.3.5
Business entities often use differentiation to make their products attractive to customers in the market – so that customers will buy their products rather than those of competitors.
4.4
Market segmentation

4.4.1
A business entity might try to sell its products to all customers in the market. For example, manufacturers of sugar might try to sell their product or products to all customers in the market who buy sugar. Similarly, distributors of petrol (car fuel) might try to sell their products to all car drivers/buyers of petrol.
4.4.2
However, a business entity might choose instead to target its products at a particular section or segment of the market. A market segment is a section of the total market in which the potential customers have certain unique and identifiable characteristics and needs.
4.4.3
Instead of trying to sell to all customers in the entire market, an entity might develop products or services that are designed to appeal to customers in a specific market segment.
4.4.4
Market segmentation is the process of dividing the market into separate segments, for the purpose of developing differing products for each segment.
	4.4.5
	Example 9

	
	The market for motor cars might be segmented according to the design of the car, for example:
· four-door or two-door family saloon car (with or without hatchback) – and with differing engine sizes

· two-seater sports cars

· estate cars

· people carriers

· 4 × 4 vehicles

· electric-powered cars

· cars that can be powered by ethanol (bio-fuel).
For car dealers, the market for cars can also be segmented into the new cars market and the used cars market.
Each type of car design is intended to appeal to the needs of a different segment of car buyers.
When an entity is selecting a product market strategy, Porter has suggested that it should select from three generic strategies:
(a)
Cost leadership. This means being the lowest-cost producer in the market. The least-cost producer can compete on price, and can expect to achieve market leadership.
(b)
Differentiation. This means offering products or services that are different in some way from those of competitors. By making its products different, an entity might be able to add value for customers, and so justify a higher price (= higher than the lowest price in the market).
(c)
Focus. This means selecting a specific market segment for selling a product or service. Having targeted a market segment, an entity must also choose between a strategy of cost leadership or a strategy of differentiation within that market segment.


4.5
Methods of segmenting the market
4.5.1
Market segmentation is important for strategic management for two main reasons:
(a)
It provides a basis for analyzing competition in a market or industry.

(b)
It provides a basis or framework for making strategic choices.

4.5.2
There are various ways of segmenting the market, and identifying different groups of customers. Methods of segmenting the market include segmentation by:
(a)
geographical area

(b)
quality and performance

(c)
function (for example, within the market for footwear, there are market segments for running shoes, football boots, hiking boots, riding boots, snow boots, and so on)

(d)
type of customer: for example, consumers and commercial customers

(e)
social status or social group

(f)
age: adults, teenagers and younger children might all buy different types of similar products, such as computer games or music downloaded from the internet
(g)
life style

	4.5.3
	Example 10

	
	An entity might decide to segment a market according to the life style of customers. Possible life style segments include single people under 30 years of age, newly married couples with no children, married couples with young children, married couples with teenage children, married couples whose children are grown up and have left home, retired couples, and retired single people.
This form of market segmentation can be useful for certain product so services such as:
· holiday

· motor cars

· some food and drink products

· entertainment products


4.6
Market segmentation and strategic space
4.6.1
A similar analysis of strategic groups can be made to identify possible target market segments. In the example below, the strategic groups are analysed by life style of customers.
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This analysis suggests that there are possibly gaps in the market for a product, and that a product is not currently being made and sold that might appeal specifically to individuals whose children have left home or to individuals who have retired from working.
Having analysed the market and identified these strategic spaces, management can go on to assess whether a strategy based on developing an amended product specifically for these gaps in the market might be strategically desirable and financially worthwhile.
Identifying gaps in a market can be a particularly useful method of competition analysis for companies that are considering whether or not to enter into a market for the first time.
5.
Opportunities and Threats
5.1
Opportunities

5.1.1
Opportunities may take the form of strategic gaps: these are potentially profitable aspects of the competitive environment that are not being exploited by rivals. JS&W give several examples of how these might arise.

(a)
Potential substitutes for existing products might be created. This is largely a technology-based opportunity, but an important route to the development of substitutes is the imaginative development of new uses for existing products and methods.

(b)
Other strategic groups may present opportunities, especially if there are changes in the macro-environment, such as deregulation or opening of new markets in developing countries.
(c)
It may be possible to target different strategic customers. In the case of consumer goods, the development of internet selling means that the ultimate user is displacing the distributor as the strategic customer.

(d)
There may be potential to market complementary products. For example, capital goods manufacturers routinely offer credit services to assist the customer to buy.
(e)
New market segments may have potential, though there may be a need to adapt the product.
5.2
Threats

5.2.1
For a commercial organization, the most urgent threats are likely to emerge from within the immediate industry arena. The five forces model provides a good summary of the threats inherent here, supplemented environment by strategic group analysis. Recognising threats in the wider PESTEL environment is, perhaps, more difficult, since it covers such an enormous range of factors.

5.3
Summary
5.3.1
All of the environment factors affecting an organization can be summarized as either opportunities or threats. The diagram below illustrates this.

5.3.2
However, having identified all the external factors influencing their organization, the strategist then needs to work out how best to align them to the internal strengths and weaknesses of an organization.
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